74%

3,3k

nur wenn Bus nicht mit R abgeschlossen

nN1D
| ‘ m 1 oo 3/ 5
[sel Il S
a4
A
50mS
IC18A E‘[]“'
2 1d
3 LZD 2 g T8
ST p SF 016
A Qo = HHL i 15k
> D8 15 R/C | _I:
NGOG Gr g | HLH ! 100 R49
R45 74123N R71
{1
&0l
e 1mS GND
1C188 A =of RN 1N40G4 |4 RS1_
2 QC - f I | —
. ° E Q / gg 5,1k
0,3 8Y 8 TN 27256
l_" —— 3+ ¢ o LHL & of & T = 3,6k
PHivaond] X< 1 HIH %) g = K16 K16}
Q Ry 3/ 5 0/ 8
74123N To N
DA [« 4
Lai®J
10k r 12p
|
o |
™)
< [e)]
K10 Ko
1 3/ 5] o/ s
2764/27128
< [e)]
K7 K7
3/ s w0/ 8
q
ROT 74S20N 5 1 2732 I _‘
X . 4 |
L Léﬁs R66 2
GND 1
IC14A
- O
X
X ..
I = Ubergang Lp2 1 ‘is <+ ‘is o
| 2716 3/ 10/ 8
DLOUNF
IC16 = 1C22
DC1 LM317LZ < LM317LZ
1 6 30v 3 5 3 2 21V
+VIN - +vouT 2 VI VO VI VO
com -
- o 2 4 AD) ilcz} ADJ ilc3
1N4084 |4 K3 K3 | VIN  -VOUT | = NS = ~ |2
D ™ 2708 3/ 5 10 8 DC/DC CONVERTER ] TS ] o
’ RV X 15V oo o
12V 2 2
N OLn
4 wvin +vour B > ot Dttt
1 vin vour B ! ! ‘
DC/DC CONVERTER 1
5Vv/12Vv GND
DC3
- 4 vin  +vour [ DLOUNF
o
— 1 v wour B—>
GND  |DC/DC CONVERTER -5V
5V/5V
[=) [=) [=) O O < < < < < O O
N[O Nl Nl NlO —o —o —o —o —lo —lo —lo —lo —l0
e T T R b T kR R
I1C4P IC5P IC6P IC8P IC11P IC12P IC7P ICOPIC14RC10P IC17P IC18P IC13P
IC10F 2 2 2 2 2 2 2 2 12 |2 2 2 2
13 12 =X 336 olw olw olw olw oolw oolw y\lw y\lw y\lw y\lw ,\lw oolw oo|<.7
m — ~N o N = = = =
R67 Y ¥ 4 ¥
7404N LED16 4 O
= 330 o 21V/24V

LED17 R68




IC1

1 28
22 o
A7 3t 2426
A6 4 2925 ag
A5 5B 24240
A4 5178 21§23
A7 2422
A2 8 1921
AL o 1420
AQ__ 10 1719872,
DR0-2110 1618pre->
Dpr1-212110 1917pRs->
pr2213l11  1416nRa>
DLOUNF 1412 13150830
1C4 !
1C2 GND
2 19 A0
e pio M £ [ I
20 17
I o 2 8 his 28 T
04 p3 P1 A3 2 N e ) TV
39 1 pg L P2 60 |14 A5
RS A 1 IC7A s op 50 |12 A6
> o5 I 3 ol o a0 |22 Az
2] o7 A7 2 .
6 18 7400N > CLK
PORTSEL ARDY 1 oc
MACGAL | 45v 5 1 ConTsEL asTB D18 4 IC7B g DLOUNF
c32 A3 6 74HCT574N
27
31 A31 I 2 ce BO E 1C5
28
T gy 368 00 B 2 /400N e RN Al0
%.— - hls U 2D 2
<& ez s 39 ro N 5 1C7C P [ 38 17_A10 ALl
- “Tas -5V A Bs |22 s o I weaw T, A3
C261 . JA% - CLK 10 5D 5Q
=3 33 14
sz Tless . 8 [ 7400N 7 o oo A A
24V el _Tax =q wr B7 S o A
(71 Dy WV IEI 9 80 2
22|= A2 JI0SELS - #14 2 1 ko BROY |21 ol o 8
DBO C21 ] A21 JTIQSEL4 - #10 BSTB = 11Nk
DB Co0|— ZTA20 JRESET 21 oo © ) [7a e
DB2 ci9|_ _lAi9 © ™)
DBR3 Cis|_ _|Ai8 /INT <51 vee 74HCT574N 2 g
_DE"DB5 T3 I ST T +5V ICs -
DB6 Cis|_ _Jais 21 ip 10 F2a—
_DB7 cia|— _TAi4 1C3 o 20 AT 27256
g%'- %g /RD 19 [, 20 |15 Adresse | ‘5‘ 3 3Q [fHE
”(/’54? i1 A1l 0], PIO  [12 AdresseH = o QA 1N4064 |4 o
- 1 13 Daten 5D 5Q THE: EN <«
col- TTaw 12 s A2 =35 71 60 6Q —5 1 < «“ o
Ol 1A% D3 A3 =5 8 B, N 10 8
| A8 39 D4 VR B 9 ;B ;8 e e -~ & 3/ 2l -
ol T £ s e 33 e 36k ’
ol —lee 31 o6 N ) NI N | .
o= =Ta 2| o a7 |-Z Programmimfuls 1 >oc | 730
clZ Tl B-/A B 9
A0_CGlo —Tas Al 6 1 PporTsEL aRDY |8 +5V 74HCT574N o
Qo A2 5 coNT&E}D ASTB [O . ICgLQUNF Rk} g N
Al i 12
= = 27 nung EIN
L1 i e B0 [—2L—Spar 11 | 2 | 18 DB0-2
GN X1 GND 7 w1 - | DatenIN | s N A T DR1-2
36 29 #4 16 DB2-2 1N4064 | N
IORQ B2 400N 4 | K6 Ké
354 ro B3 |30 #8 7 — M B3 2 DRy i )
— 10
1 Ba [l —#10 IC10A I IV R DR4-2 g = -
5 ok Bs |32 ) . 2 [ | o [ DB5-2 o
Fl s Ve i A I A T DB6-2 . g
e 87 7404N o | e ms | DB7-2 | ,
» | E | 21 +5V | R31
IEO BRDY 17 1 DIR
BSTB :)H [196
L G
%l# GND T4 ~
© - — 74LS245N )
<= vee n
110 12 11 13 45V
214 16 15 17 2764
< [a)
c < c m % 1N40%m st K8
£ 5 £ 5 v s 3/ 5 w0/ 8
€ 36k
| ,
+5VEIN | R33
N T5
+5V KZ}
A +5V oy
7 [«4
& —~ 1c11
15 1
+12 K1 ) 7 g 8‘13 0~ 5708 #04
e FETN P 53 2716 #g?_
- #
< a1 ° o D57 #10 IC10D 2732
N <6 27128 #14 9 8
+24 K1 ol ST #18
3 5 24V 06 39
5V 7 07 % 7404N
08 311 24V
j 09 PO—
K2
0/ 8 74LS42N
1C12
15 1
A 00 O
alls em R Scmn 2716 IN404 g
T oh 13 c o b3 K]
1 L1503 B 2732 4 2716
;r[]__ programmieren 04 P2 %;?‘218 e
®TF 05 3? 595%e T o N R4V
% Be 1 ° 3,6k ) ki
08 o | R37 :
11
X 00 PH
= R
@ a 7410N 13 741 S42N 7 21V
12 2 gg
% # 1 o
IC19A | °
7410N 5 |
6 4
- 3
2708
GND IC19B 3,6k o g y
X - K13 K14 K14
R28 o/ 8 A Y 2
T1 ~
o
) |
<t




